A level Mathematics
Year 12 into Year 13 SIL

Instructions.

Hand in your completed SIL to your teacher in the first lesson of Y13

Part 1 ~ Compulsory

Complete three retrieval papers (Paper 1, 2 and 3)

Use the worked solutions provided by your teacher to mark your own work and keep a
record of your scores (together with any questions/problems that you need to ask about)
in the tables below.
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Year 12 into 13 SIL Practice Paper 1 (101 marks)
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Find in exact form the unit vector in the same direction as a =4i— 7j.
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Year 12 into 13 SIL Practice Paper 2 (99 marks)

logii (2x—1)=1-logu(x+4).

Find the value of x showing detailed reasoning.

(Total 6 marks)
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Year 12 into 13 SIL Practice Paper 3 (105 marks)
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Year 12 into 13 SIL Extension Paper 1 (62 marks)
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